1. (8 points) Let f(z) = 1 + 2z — 32°.

(a) Simplify the following expression far enough so that plugging in 2~ = 0 would be al-
lowed:
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(b) Simplify the following expression far enough so that plugging in @ = 0 would be al-

lowed:
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4. (10 points) Let f(x)=3-x? and = :
(10 p ) (%) g(x) {x+10 ifx22

+ g} -
a) Evaluate and simplify =+ a) fx) . (Simplify as much as possible)
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b) Give a multipart formulai:nr the composition f(g(x)).
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¢) Give all values of x that satisfy g(x)=6.
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(a) The function h(g(z)) is quadratic.
Give the formula for k(g(z)) and find the z and y coordinates of the vertex.
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(b) Find all solutions for z in the following equation:
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(c) Write the multipart rule for f(g(z)).
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6. Consider the following multipart function: 2
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(a) [6 points] Sketch a graph of f(x). Label your graph clearly.
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(b) [7 points] Find all solutions to the equation f(x) = 2.
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